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Algebra 2B/ Trig.

Unit Test Review

Unit 5. Rational Functions
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1) Sketch the graph of f(x) = Z

State each and label them on the graph
a) Intercepts : MA

¥=0 3¢=0
¢) Domain: (—09, o) UL 0,o°)

d) Range: (—29, o)V ( 0)00)
o @

e) In which quadrant(s) does the graph exist?

b) Asymptotes:

?

2) Sketch the graph of g(x) = —%

A

State each and label them on the graph
a) Intercepts: A4

b) Asymptotes:

= ; \a, ~ 0O
¢) Domain: C — O /O> U Cﬁ)m)
d) Range: (-9 s o) U (o, M)

e) In which quadrant(s) does the graph exist‘?@

25Q 4

3) Sketch the graph of h(x) = ;—i—z-

Describe the transformation of the graph

1
from the parent graph F(x) = —

hon’b:nm erw(aircm l\Aer %H\o mhjr

=

4) Sketch the graph of j(x) =—

h 4

Describe the transformation of the graph

from the parent graph F(x) =

Verliwd Hans. Sum% down




5) Sketch the graph and label a-e
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State each and label them on the graph
above

a) x-intercept: (0= X =
) p 3 i o)
b) y-interceplls!:
\é: o > {
c) Vertical Asymptote:

d) Horizontal Asymptote: @

e) Domain: @ ?)) ch)a

6) Sketch the graph and label a-e
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State each and label them on the graph
above

a) x-intercept: o= X_+§ x=24
%3

X 205
b) y-intercept(s): %23‘?‘—3- 1§ y’: &

)
¢) Vertical Asymptote:
¢) Domain:

C—o% 3) ch)ao)

d) Horizontal Asymptote:

Y145 —7

215

7) Compare and Contract the graphs
on #5 and #6. What are the
similarity and difference?

S‘“w\ilari'}y’. both has the san

Verbicef O‘SY”“{’L”LQ
X=3

difference’ The verficol

AsY w\ploles were ddferent

8) State the domain of the function
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2x x-3
9) m®x)= T 4 10) n(x)= e
(\
il f
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y > € < - >
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State each and label them on the graph State each and label them on the graph
above above Jor  X-ing, X,0)
a) Intercepts : a) Intercepts : -
) I o Ky C 01%)
b) Asymptotes: VA b) Asymptotes:
He: Y=ot G= -3 .
©) Domam:@ ,-3) U (-3 /ofiD ¢) Domain:
d) Range: C d) Range
(20 3) v (75>
— " |e)hole? NA
x2+5x-14_ K=3) (X+1) x2-2x —15
PO S o g 12)s60= .
T \ ]
S AN G“;Ph / -
: £ Xl /
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M) X i 3 )
State each and lz}()el them on the graph State each and label them ofn the graph
above Y e 2l above I -
a) Intercepts : 9'""4' SRS a) Intercepts : X ".# ; 5,3
X-in! 2 y--int VA
b) Asymptotes: A: @ b) Asymptotes: VA ‘: X:? — X-—fD
_ Ha@ED AA Y%= XTs
¢) Domain: ¢ 00,23 U (—-1,0'0) ¢) Domain: (~02 O) U Co,o°) x.,;u;(
d) Range: C-OO/ ') v )00) d) Range: (-o°/ o0 ) -2
e) hole?uhenX = 2. e) hole? NA




#13-18 Simplify. Be Sure to state restricted values (aka, excluded values), if any

X?-3x-10 ¥3x+2 4 X2-3x-10 | x+3x+2
x2+x-2 (x-5) ) x2+x-2 (x-5)

XBIORY, (400D | OB CRRD L ext 2kt L)
=P T =D | Tt ?x-.c; >
CA42)CXAD =5 C { X~

Cx—1) ¢ ¥t2) cxﬂ)

Restricded value' 1,-2,5 RUS2,1,-15)
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#19 22, Solve each equatlon and mequallty
-3, | X'—' ( s =-L 2)C-3
@ 3)(x+| M(CJ@\}: 7)_ @ﬁ ’%( i)")) Qiax) Q_B )(J (-3
DO -3(X =Y
L) -2%-3) = § X= -3
X+l —2X+ 6 =%
—X+71=9
—_ =
=1
oy T RN it N
) xX2-x-12" )xz—zx—S*
SSDICSIDIN G Lo
sketch (X =H)(x+3) sketch (=) (X 42D
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Zero: X= [ g X= y Zero: @@:D
Twtlke  Cx-D x4 2= 0 Think - C-DCx+1) =0
Undefined at: x=4 X= sy Undefined atCﬁ’:_fi—\D@
e ()3 #E 0 it OE=t) Cf) 7= 0
Identify he intervals of x (aka, Solutions): Identify he intervals of x (aka, Solutions):
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